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21 . Represent the given data in a sub divided bar diagram. 

iirc)~ru~ ~o~~ ~~l'l~ 10~ ?J~d~ ~15~qj!A~. 

Class/~drll 2001 2002 · 2003 
8 80 100 110 
9 75 90 100 

I • 

2004 ' 
110 1

' 

105 
10 70 ,__..__ 90 100 

22. Calculate Karl Pearson's co-efficient the given data. 

~~ru~ ~o~ ec,c,rF' ~o::btf~~ o i~~ ~omt:otA®o 
tJ ... 0 ~ . • 

X 76 87 94 67 66 59 
y 120 130 150 110 130 120 110 

. 
~ . -

~ - r - . . . 
I ,.. ' • . . ,, 

' . , . .. , . 

) . 

. r 

0 
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IV Semester B.A. Examination, July/August 2024 

(NEP Scheme) 
ECONOMICS 

DSC 4.2 : Statistics for Economics 

Time : 2½ Hours Max. Marks : 60 

Instructions : 1) Answers must be written completely in Kannada or English. 
2) Answer of Part - A should be continuous. -
3) Answer should be precise. 

' . 
PART -A (C ,~tft:ilttaR . 

~re - w (2$;0~~~ 
I 

Answer any ten of the following questions ~:~" ~ . . Each question 
carries 2 marks. · · (1 0x2=20) 
~~1'c:S OlT.)~Oc>ddJcl ~~ ~~rt~rt 2-3 ~~/"<~~ ~o.tJ. _;;.a o;~rt 2 c,owrt\U . 

.. ,,. . . , 

1 _ What is a questionnaire ? · 
c:::l ~ ~~ cwOddec:$.:> ? 

,. '- • -,~ " I • 'j•• / 
, , ,,.,,, 

'.:::' al 

2. Calculate mode for the below data : 

,&tJ1'~ o~o~ u<5JtJ~~~ ~oru&t'd~o . . 
, ': · . 47, 38, 51, 28, 38, 58, ?4~ 54, 42, 38, 65 

3. What is descriptive stati:stics ? 
:.;:)~d~i,~ ~o~i!Jc>1 wodo~c:i) ? 

4. Name any four variables in economics. 
e:,~ F"~~ di!) OlJc)~Oc>dd.ti) ~Cl:l t3eJ~O~ralrt~c:P ~;:;JO.!J. 

'1" dM 6 cl 

5. What is qualitaUve data? 

romt'd ~o~ woddec::b? 
:S I -. • \ 1 ~ I , - ' .,. - ' I 

6,- ·. _Ca~cula~e range fo_r the· f~~lo~i~g data.. . _ 

1 'afc)~dJ~ ~o~6 ~~d/~0~o:b~ ~oru&~~o. 

X 41 11 14 65 73 64 53 35 71 55 
f 2 3 6 4 8 10 5 7 1 9 

P.T.O. 
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7. Name any two types of classification of data. 
~o~ ~1'F~~d~d ~Wddd.r.> ~d'3J cJ'Cj$rt~ ~O'-,. 

8. Mention any two types of correlation . . 
~at':SotJo'Cj$d o:m~t:r.)dd.r.> ~dru ~'Cj$rt~ oSzjOA>. 

9. Write the two Regression equations. 
&>oi.;C)~o:b ~dru ~~~dro,rt~ tJ~o,JO. 

10. Name two components of Time series. 

~C)~ ~~o:i:> ~dru c,o~~ ru~Q~ .. 
I -, 

' . ' 
11. Give two examples .for 

o,;~ojJ ~o~ g;j,~U! 
(,,l .. .., 

s of secondary data. 
t:r.)~d~ N~~-

12. When 0 1 = 150 and O ~,~ U'UIUQI ile deviation. 

0 1 = 150 ~~ 0 3 = 25 ~ ~ ,d · F~ cJt3C)~ai)~ ~O®&tl®O. 

PART - B (Analytical) 
~rl- O(~e~~i) -,., .. 

'! 

' . ' 
Answer any four questions. Each question carries 5 marks. 
~~1\~ o:m~0c>ddrc) ~~ ~~rt~rt ~O.!J. c;.a o;~rt 5 c,o~rt~. 

(4x5=20) 

13. Explain the functions of statistics. 
;::$o.mi.,~;::$d tr.,o.1)Fri9~ c:)~0.!J . 

., do at 

14. Calculate Arithmetic mean for the following data. 
c:::l~tldJ~ 00c)O!$i c,~r(~~ ;::$0c);::$0o.1)~ C,~ ~6. 

_. 6 o( 6 

C.1/ 
5-10 10-15 15-20 20-25 25-30 30-35 35-40 40-45 

;jrwro!d 

6 5 15 10 5 - 4 3 2 

15. Explain the features of a good questionnaire. 
' ero~e:b ~.~ ~<>o:b 7UE'c)~ E'c)rlfJ~ ~~O.IJ • 

.. .., o( "-\ .,, 

: i 
I' 

,. 

• 
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16. Construct a continuous series frequency table for the following data : 
~~1'c:5 ci~o:!t, ~~3 ;e~o:b c,~~ irl~o:b~ d?J~. 

NP-148 

26 24 22 30 19 17 34 26 31 17 38 28 31 29 
20 . · 26 44 27 19 28 34 33 34 22 25 · 34 . · 16 43 

- . . ~ -
22 _ 27 ~ 20 : . 37. 38 31 36 33 28 19 24 

I 

17. · Draw ,a histogram for the following data : 
ifJI'\~ ~o~, ~~ ~o:Jc>,oe~ ·~~ d?J'->. · 

C.IJ 
10-20 2p~30 30-40 40-50 50-60 60-70 

dm>ro:1d . ' . 
f/e:,~~ 

. .. 
8 , 12 · -: 14 . 15 10 -· 

' -.. 

18. · Calculate' ~edian 'tor the follo~ing · d~ta. 
~~OJ~ mi>~~~ .. ~ W•ort>&~~B. 

cJ ... u .. ial. 

Marks/~o~n...o o -1 o 1 o - 20 20 - 30 30 - 40 

No. of Students/ 
~~IS q)rri'w'f ;!G0~15 

7 8 15 10 

PART-C (Descriptive) 
~n - ~ ( ~dd~f) 

Answer any two questions. Each question carries 10 marks. 
e~7'~ Q'm~Ot)t:)O!c) ~d~~{KQrt ero~O-'.J. 21,l ~{rt 10 C,0!1'1~. 

19. Explain the different methods of collecting primary data. 

~.~~~ ~o~~ ;?$o1i,&l~ ~Q ~~~K~ ~O.?.i. _, ... Cl(, ..,, cat. 

a · 

. 
70-80 

6 ' 

(2x10=20) 

20. The data below shows the quantity produced by two labourers. Find which 
labourer is more consistent in his production. 

~tilt\~ ~o~ ~fidJ !r.>.)Jf"!d ~~CXD ;;;.ir.)~ ~eo~d. ~ catJudJ 
!r.>~~dl'I ~ ~r! ~~o:bl'I At~ ~Oet>~ .:iodJ !0aJ~rA~O. '°M tJ ~q) Q 

Labourer A/ 
58 59 60 54 

~riA 
65 66 52 75 69 52 

Labourer B/ 

~AB 87 89 78 71 73 84 65 66 56 46 
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